Name____________________________    Advanced Pre-Calculus
Date _____________ Period __________     Review of 4.8, 6.1, 6.2 

I.
 Round all answers to two decimal places.  
1)
A water tower in Houston casts a shadow 150 meters long when the angle of elevation of the sun is 
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.  Find the height of the tower.

2)  
The angle of depression of the closest point on the ground that is visible over the nose of the airplane is 
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.  If a certain plane is flying level at an altitude of 3000 feet, find the line of sight distance from the pilot to the closest visible point on the ground.

3)  

Two surveyors located at points A and B sight the marker at M.  The line of sight angle measure to the marker from point A is 
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;  and  from point B, 
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. The distance from A to M is 100 yards.  Determine the distance between the surveyors to the nearest tenth of a yard.

4)
The sides of a parallelogram are 43.8 cm and 36.2 cm, and the measure of one angle is

125˚.  Determine the length of the shorter diagonal.





5)
The sides of a parallelogram are 43.8 cm and 36.2 cm, and the measure of one angle is

125˚.   Find the area of the parallelogram






6)  

Strong winds have forced a tree to grow 15˚ from vertical toward the sun .  The tree casts a shadow of 42 meters.  If the angle of elevation from the tip of the shadow to the top of the tree is 
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, how tall is the tree?

7)  

Two planes, one flying 300 mph and the other 450 mph, left an airport at the same time.  Three hours later they were 1200 miles apart.  What was the measure of the angle between their flight paths?











8)  
A ship is just offshore of New York City.  A sighting is taken of the Statue of Liberty, which is about 305 feet tall.  If the angle of elevation to the top of the statue is 
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, how far is the ship from the base of the statue?








IV.  
Solve the following triangles.  Round to two decimal places.
9)
Given:  a = 9 in., b = 15 in., c =21in.






10)
Give ( G = 48˚, h = 22 ft., i = 15 ft.









11)

[image: image7.wmf],90,68,37.
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12)     
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13) 
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14) 
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15) 
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16) 
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17)  
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18)  
Determine the area of a triangular lot if the sides measure 120 ft, 250 ft, and 150ft.
19)  
Determine the area of triangle 
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